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a) V2x Y4+ 2= 2

b) 25 = ahx327d = 07
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o) Ya2x Ya+ YaJa= 0

d) log, 12 +log, 32 —1log,6 = 2

e) %1og38+2log3ﬁ—1og3180 =-9

f) 4log8\/§+%log83—log8§ -

(2] logio2 =a. log;g3 = b EBLEE, RDORE a, b TRE.

a) 10g1072= ;a—fzb

b) logiol.5= b - 4
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c) log;4 = lzg-

(3] RODENZEND 3 DDEEINS VEDHDORENEDATINRK.

a) —1, log,0.25, logzé.
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b) 1, log% 5, log%%
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a) 4% =82 x:—%

b) logy(5 — x) = logy(x* — 1)

X=2\'5

) 27* 2 3(V3)

d) log,(3x—1) <3

0< 3x-1< P £ —'3—<x<3

e) loggx + logg(x —1) = 1

A>0, ¥-1>0
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(5] 0.6%° &, NMBAMICNHT 0 BEVESHRNDD. BBES
l;‘ 10g102 = 0.3010, lOglO 3 =0.4771 &%(J\ck.

by, 0.6 = ~4.657
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2. NBES log,o3 = 0.4771 ZALKL.
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